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One of the following is an incorrect sequence with respect to the
rule, ‘Development follows an orderly sequence’.

1. Alphabet — Words - Sentences

2. Addition — Subtraction — Multiplication - Division

3. Baby teeth — Permanent teeth

4. Speaking — Listening — Reading — Writing
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According to Kohlberg the characteristics in post conventional

Morality

1. Establishment of Social order

2. Determining right and wrong by results

3. To think that everything that fulfills his needs is right
4. Want to follow universal moral values
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The Characteristic of Early Adolescent stage
1. Stability of physical changes

2. Criticizing the community
3. Stay calm
4. Dealing consistently with hetero sexuals
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According to the Erikson the stage where individuals idolize and
imitate others

1. Childhood

2. Play stage

3. Early Adulthood
4, Adolescence
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Universal grammar theory is related to

1. Skinner

2. Bandura

3. Chomsky

4. Galton

Q4 YIRS 9@ (Universal grammar theory)
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The process to forget the painful things, failures, insults and
experiences is

1. Projection

2. Repression

3. Regression

4. Compensation
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The father of mental health movement

1. Bernard

2. Gates

3. Clifford Beers

4, Jersild
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Persons with this type of thinking will get good score in tests
related to creativity

1. Concrete thinking

2. Abstract thinking

3. Associative thinking

4. Divergent thinking
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10.

Nagalakshmi makes friendship easily with new persons. This
type of intelligence is

1. Social Intelligence

2. Mechanical Intelligence
3. Abstract Intelligence

4, Concrete Intelligence
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In an experiment on ‘studying the influence of glucose on the

activeness of the student’, the variable activeness of the student
is

1. Dependent variable
2. Independent variable
3. Intervening variable
4 Uncontrolled variable
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This law describes the tendency to perceive objects that are close
to one another.
1. Law of Continuity

2. Law of Proximity
3. Law of Similarity
4, Law of Closure
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“Any relatively permanent change in behaviour that occurs

as a result of reinforcement and practice”. This definition is
related to

1. Personality
2. Memory

3. Learning

4. Development
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Identify the wrong statement with regard to emotions

1.

2.
3.
4

Children learn emotions by imitation

Children learn emotions by conditioning

Children are born with the emotion of fear

Along with attaining physical, mental maturity children
get emotional maturity.
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The type of learning curves occur when learning material is
initially very complex, gradually becomes easy and at last again
they are complex

1.
2.
3.
4.

Positively Accelerated
Negatively Accelerated
‘S’ shaped

Typical
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This theory states that ‘the similarity of keyboard in type writer
and computer makes a person who knows type writing can learn
computer easily’

1. Theory of formal discipline
2. Theory of Identical elements
3. Theory of generalization

4, Theory of ideals
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According to Vygotsky the following is an example for higher
mental process

1. Questioning

2. Comparing

3. Identifying

4. Synthesis
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Identify the correct pair

1. Cognitive domain - Receiving

2. Psychomotor domain - Manipulation
3. Cognitive domain - Characterization
4, Affective domain - Analysis
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Secondary need among the following is
Air
Temperature
Exercise
Clothes
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The concept that formed in children between age group of

3 - 5 years.

1. Time concept
2. Money concept
3. Colour concept

4, Beauty concept
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An abnormal forgetting that can be occurred from mental or
physical trauma

1. Amnesia
2. Hallucinations
3. Hysteria

4, Schizophrenia
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The concept ‘Learning disability’ was introduced by
1. Samuel Kirk

2. Piaget

3. Vygotsky

4. Karl Rogers
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Meaning of the file format ‘.docx’
“.docx’ TIAR TEIQQ el

1 Word document

2. Word star document

3. Microsoft word open XML document
4 Microsoft plane text file
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24,
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26.

‘NCPF’ stands for

‘NCPF’ @@6@
National Council of Primary Frame work
National Curricular and Pedagogical Frame work

1
2
3. National Curriculum and Primary Education Frame work
4 National Curriculum for Policy Frame work

‘Class Room is a miniature society’ these words are stated by

1. Kasturi Rangan

2. Aristotle

3. John Dewey

4, Rousseau
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According to ‘RTE — 2009’ ‘Elementary Education’ is
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1. 15t — 5% Class

2. 34— 8™ Class

3. 15t — 7% Class

4, 15t — 8™ Class

‘ADHD’ stands for

‘ADHD’ 28]
Attention Deficit Hyper active Disorder
Arithmetic Deficit Hyper active Disorder

1

2.

3. Attention Deviation Hyper active Disorder
4 Attention disorders in Hyper active Disorder
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Author of the book ‘On memory’

1. Kohler
2. Koffka
3. Tolman

4, Ebbinghaus
2IQ 6716¢1IQT QTR ERTR

1 6RI2NQ
2 6R IR

3. 691
4 N(Aelle]

‘ABC’ card is used for
1. To record the student’s family background
2. To record student’s health status

3. To store credits earned by student from online and
distance mode

4. To record the transactions by students from online and
bank
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29.

30.

Reading disability

1. Dyslexia

2. Dysgraphia

3. Dyscalculia
4, Dysphasia
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One of the following is ‘Explorative Skill’
Predicting the reasons
Having self — confidence & faith
Thinking creatively
Estimating
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Identify the grammatically correct sentence.

1. Parents work for there children
2 Parents work for their children

3. Parents work there children

4 Parents works for their children

Identify the correct verb for the sentence:
“Santana a singer.”

1 IS
2 are
3. am
4 be
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66.

One of the following is the term for a person who is all —
knowing:

1.

2
3.
4

Omnipresent
Omnipotent
Omniscient
Omnifarious

Identify the modal verb in the following sentence that expresses

advice: You see a doctor if you’re feeling unwell.
1. would

2 must

3. could

4 should

Choose the correct capitalization for the name of a diety:

1.

2.
3.
4

god

God
GoD
goD

The following is the correct practice when formatting dialogue:

1.
2.
3.

Use a single paragraph for all dialogue.
Place dialogue tags at the end of each sentence

Start a new paragraph each time a different character
speaks.

Use parentheses to indicate each character’s speech
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Choose the sentence in the future continuous tense:
1. They will arrive soon

2 She is eating lunch

3. He will be sleeping at that time

4 I have finished my work.

Choose the structure for a negative sentence in the simple past
tense:

1. Subject + did not + base form of the verb
2 Subject + do not / does not + verb

3. Subject + will not + verb

4 Subject + is/ am / are + not + verb + ing

Identify the type of sentence: “Come home as soon as you can.”

1. Declarative
2 Imperative
3. Interrogative
4 Exclamatory

He wanted to go to the park.

Identify the correct transformation of the simple sentence above
Into a compound sentence:

1. He wanted to go to the park, because he went there.
2 He wanted to go to the park but he stayed home.

3. He wanted to go to the park, so he went there.

4 He wanted to go to the park, although it was closed.
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73.

Identify the type of clause that adds information to the main part
of a sentence:

1. Main clause

2 Dependent clause

3. Independent clause

4 Simple clause

The company offers excellent benefits. , Mmany

employees stay with the company for years.
Choose the option that fits the blank.

1.

2
3.
4

Nevertheless
In contrast
Although

As a result

Choose the correct sequence of the words in which they occur in
a dictionary.

iii.
\2

1
2.
3.
4

difficult
dinner
difference
demonstrate
iv, ii, iii, i
ii, i, ii, iv
iv, iii, i, ii

i, 1, 1, v
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Choose the correct spelling of the word.

1.
2
3.
4

Identify the correct example where the indefinite article is used

hysterical
histerical
hystericle
hystaricle

with few and little in a positive sense:

1. | have few friends.

2. | have a little time.

3. My brother has few friends.

4 My brother has little time.

They cancelled the game the rain.

Choose the correct preposition that fits the blank.

1.

2
3.
4

contrary to
except for
because of
in case of

“And now the forest is deathly still as though it were midnight.

Choose the synonym that means “still”.

1.

2
3.
4

moving
active
busy
quiet
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79.

80.

81.

But more importantly, it is a tribute to some of the bravest

Indians.

Choose the antonym of the word ‘bravest’.

1.

2
3.
4

9

unadventurous
dashing

heroic
courageous

The following is the indirect speech form of:

He said, “Alas! I am undone.”

1.

2
3.
4

He exclaimed hopefully that he was undone.
He exclaimed sadly that he was undone

He exclaimed that | was undone.

He exclaimed with joy that he was undone.

Choose the meaning of the phrasal verb ‘bring up’

1.

2.
3.
4

A:
B:

to lower or decrease something
to avoid discussing a sensitive issue.
to neglect someone’s needs

to raise a topic in conversation

Who cuts Brain’s hair for him?

Nobody. He cuts

Choose the option that fits the blank.

1.

2
3.
4

Brain self
myself
himself
each other
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Identify the interjection that would be appropriate to express
pain.

1. Oh!

2 Ouch!
3. Yay!
4 Hey!

Read the following passage carefully.

India’s art and architecture reflect a rich historical legacy. The
intricate carvings of temples like Khajuraho showcase ancient
craftsmanship. The vibrant murals of Rajasthan and the
traditional Madhubani paintings from Bihar highlight regional
artistic styles. From the majestic forts of Jaipur to the serene
Buddhist stupas, India's architecture tells tales of its diverse
cultural history.

The Khajuraho temples are known for their

1. modern design

2 vibrant murals

3. intricate carvings
4 Buddhist stupas
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Read the following passage carefully.

India’s art and architecture reflect a rich historical legacy. The
intricate carvings of temples like Khajuraho showcase ancient
craftsmanship. The vibrant murals of Rajasthan and the
traditional Madhubani paintings from Bihar highlight regional
artistic styles. From the majestic forts of Jaipur to the serene
Buddhist stupas, India's architecture tells tales of its diverse
cultural history.

Identify the type of artistic style highlighted in Bihar:
1. Murals

2 Carvings

3. Forts

4 Madhubani Paintings

Identify the foundational skills for effective communication:
1. Reading and writing

2 Grammar and translation

3. Writing poetry and prose

4 Listening and speaking

Identify the activity that involves rewriting sentence for better
comprehension.

1. Note taking
2 Paraphrasing
3. Predicting

4 Role writing

Identify the method that emphasises oral communication and
natural learning process:

1. Grammar Translation Method
2. Direct Method

3. Bilingual Method

4 Situational Approach



88.

89.

90.

91.

Identify the advantage of CLT.

1.

2.
3.
4

Emphasis on translation

Boosts confidence in language use.
Focus on grammatical accuracy
Suitable for large classes

Choose the best option that describes the position of English in

India.
1.
2.

English is culturally and psychologically dominant

English has multifaceted acceptance but limited cultural
influence.

English is solely a domestic language
English is rarely used for international communication.

Choose the best option that describes a general objective of
teaching English.

1.
2.

w

WP/~

Enable students to learn only grammar rules.

Enable effective communication using English as a
medium.

Focus solely on written language skills
Teach English literature exclusively.

—3x%y + 4xy’ — 5xyz) +(3x—4y+5z) =

—Xyz
Xyz
Xy
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94,

All the three medians of a triangle

1. Always lie in the interior of the triangle

2. Always lie in the exterior of triangle

3. Some in interior and some in exterior

4. Always coincides with sides of the triangle.
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The angle of rotational symmetry of a parallelogram is
691G AINIBAR 689R LR ALY 6RIE

1. 90°
2. 180°
3. 270°
4 360°

The probability of getting a number which is neither prime nor

composite when a die is thrown is

6AITN REETIT] JPIRQIERER 6Al@e QG @gl 6de

Q*HM AIRAEYRNRN LA

1, 1L
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An item was sold for ¥540 at a loss of 10%. Its cost price is
(inRs.)

661G @G 10% VGEQ /406 TG FAUTRI | FILIQ Q!

ARy (OF16Q)
1. 486
2. 594
3. 600
4. 640

Amar purchased 2kg 500g laddoos, 1kg honey cake, 7509
Jamoon and 250g Jilebi. Total weight of eatables he purchased is
1. 4kg 5009

2. 3kg 500g
3. 5kg 5009
4, 4kg

29Q 2 @.91. 500 gl. R, 1 @.9. 6@, 750 g FIFR I
250 gll. GEmG @&gmI | 6Q FéiJQl HIY AR 671G BRQ
1. 4 @9l 500 9.

2 3 @.91. 500 gl
3. 5 &4 500 ql.
4 4 Q.9

In adjacent figure y+2x = \
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90° L\X 45

180°

135° \/

45°

=

Hown
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100.

Juveriya bought vegetables weighing 10kg. Out of this, 3kg 5009
is onion, 2kg 200g is tomatoes and the rest is potatoes. Then the
weight of the potatoes (in kg)

642l 10 @.9. 8ea Q98 JaQl @&eml | 632Q 3 &@.9)l. 500
gl. deix, 2 @.g)l. 200g]l. SIS IQ° YUY 2y | 6662 QA

6ea (2.91.69)
1. 43

2. 53

3. 4.03

4 5.03

Number of intersection points of two intersecting lines is
QPG 6800 AAREATIA 62K GQ A°Hl
1. 0

2. 1
3. 2
4 3

On certain sum, the interest paid after 4 years is I600 at 5% rate
of interest per annum. The sum is (in Rs.)

A8 Reg 5% Q 2R6ER 4 Q¥ AR 600 KGR QI
3600, 6069 AR (S16Q)

2000
3000
4000
2400

i N =



101.

102.

103.

104.

In AABC, If AB =4cm, BC =5cm, CA =4cm then it is

1. Scalene triangle
2. Equilateral triangle
3. Isosceles triangle

4. Right angled triangle
@ 9@ ABC 6Q AB =4 6.4, BC=5 63.4.,

CA =46Q.4., 6069 12| 4@
1 QY QIg G
2. Q0QIg 99e
3. Q09 Qlg 3ge
4. QAAERIEN SRR

Two numbers are in the ratio 5:7. If their HCF is 3 then their
LCM is

QRG AHWIQ AQAIS5 : 7 | U@ 69T A°HIQ G.AIg. 3 g\,
6069 629@@a MY,

1. 15
2. 21
3. 35
4 105

The supplementary angle of 56°
56° @ IR 6aIdl

1. 24°

2. 34°

3. 56°

4 124°

ABCD is a rectangle. If AC = 10cm then BD = cm
ABCD 2996896 AC = 10 6Q.¢1. 626

BD = 6Q.41.

1 )

2. 10
3. 15
4 20



105. The value of polynomial 2x* —3x+2when x = -3
A9 x=-3,606Q 2x*-3x+2 9gU1Q MY

—25
13
17
29

e

106. The ascending order of the following is
QA9eRQ 2ICARE AT

3?4+ 2?

3?22

3% x 22

32

22

Bl
A!
D
C

SN ONORW,

AONPE O OW >

o>00

>wwl>

107. Number of factors of 1001
1001 Q QIR Q°GHI
1.

oo O U1 W

2.
3.
4

108. The mode of the data 5, 6, 5,6, 3,2,1,5,6,2,6 s
5,6,5 6,32 1,5,6, 2,6 224Q 9039a

go agN
o

1
2.
3.
4



1009.

110.

111.

112.

If 5x+%= gx—14 then the value of ‘X’ is

Q@5x+ 2= 2x-14 6669 X @ R
1. -3

2. -5

3. 3

4 5

One of the following is TRUE
QIQ 6296 A

36045 < 30154

12121 > 121112

200202 > 200240
500811 > 500611

Hown e

In a bar graph, 3 units long bar represents 15.6 lakh population
then the population represented by 1 unit bar is (in lakh)

I3 EANPFER 3 IAR 6644 JFR AT 15.6 AV FAA°HIG
Qele  @6m, 1 9@ 6hdy Qe  2a0  goIaas
FRA°HI(RVER) .

1. 5.1
2. 5.2
3. 5.6
4 5.8

1 . 1
If x+==5 then value of is x* +—
X X

Q@ x+-=5 , 6667 ¥+ Q IR
23
25
27
125

el N



113.

114.

Identify the non perfect square number
2°gd Q9 621RRYR1 A°HYIT

1.

2.
3.
4

324
361
441
449

The scale of a map is given as 1 : 60000000. Sonu measured the
distance between two cities in the map as 30 mm. The actual
distance between the two cites is (in km)

6QlIGN FIRTREQ 62M 1 : 60000000 6RIR QARG | 619
AIRTQER Q@E AL F1) 9QGI 30 F.71. 6QIR TR | 69
QG ALQ FIUEQ QLR 9AGI(F.61.6Q)

1.

2.
3.
4

2000
1800
20000
18000



115.

116.

‘Explaining the Mathematical logic’ is related to
1. Problem solving

2 Reasoning and proof

3. Connection

4 Communication

'SR 0Rg XIAQI' AL FGE

1 AAIQYl AL
2. 486gae

3. Q6Qld

4 QARG

Among the following is not related to “Good mathematics
Textbook”

1. Problems must follow the order of Difficult to Easy
2. It must enhance their social and cultural values

3. Practice sessions must be placed for evaluation

4. Enough practice exercises for self-assessment.
QRS AUIQ "ARE A&e AI0YYLR" ARG ARG 96%
L OANIGER FLAQ AR G QLRI QGG

2.

el 6AAIREQ AT 8 ACYPR MIeRIg 9F
*Q2Q

RUIGR IR RSARE 2R QAR

4. 919 AKRR AR AAYIG 2SR QIR

S



117.

Characteristics of Inductive Approach are

Formulated from the examples

Continues from the concrete things to abstract things
Generalization by doing experiments or Observing
Tests Formulae / Generalization / Conditions

From abstract to concrete

2624 AIRHMQ 6T GPR 62l

RAI2AEQ AR FOR KR

(e Y89Q 276 FAq SRR

JQIFE KAQI @)l Y6V @@ ARIAIFAE KaQ
Jo/ ARISINRAE! / FAAGeR A8 @S

2¢j6 ST9Q (& AU FIQAET

b,c,d, e

a,cdb

a, b,c
a, b,d

o0 o

PONME® O 0 T o



118. “Where there is rthythm, there is a number” is stated by
1. Adam Smith
2. David Weeler
3. Plato
4, Pythogoras
"6920 R 2T, 640I6Q IR A AT 69 FTJ6M

1 2@l 2|

2 6R9Q GAQ

3. 6969

4. AR

119. °‘APeKX’ stands for

‘APeKX’ @ Q2106 Qd
Andhra Pradesh e- Knowledge, x-Forum
Andhra Pradesh e Knowledge eXchange

Andhra Pradesh expert key persons exchange
Andhra Pradesh exchange e-knowledge

AwnE

120. Meaning of the terms ‘Heurisco’

‘Heurisco’ QIFIS 9QQ &8
1. | support

2 | find
3. | do

4 I know



121. When you measure the length of an object, the reading of the
scale at one end is 1.2 cm and the other end is 3.6 cm, then the
length of the object is

1. 4.8 cm
2. 2.4 cm
3. 3cm
1
4. - cm
3

691I5°q 9@ 634 FITQCER 6INA IR 689 A& 1.2
6Q.61. 9Q° 2R 69 3.6 6Q.51. 626M 6T IR 6GWY

1. 4.8 6Q.9.
2. 2.4 6Q.6.
3. 3 6Q.4.

4 lead
3



122.

123.

Magnetic effect of electric current was first observed by

1. Faraday
2. Oersted
3. Maxwell
4 Volta

QIR gIL 91 98 6291 YA RIYG A6
AI6QE FRYQI 63RIAR

1. TIQI6e
2. 2R96aQ
3. QNIeI6ER
4. CRARG

If two unequal forces act in the opposite direction of an object,
the net force acting on it is equal to

1. Sum of the two forces

2. Product of the two forces

3. Difference between the two forces
4. Zero

69IEN @g AUEQ YRE AANAR NG YF6Q ALY F6m, BIL!
RUEQ IR AR QR

1. Q06 ARQ 67115g AR

2 906 QRQ JETRG AAQ

3. 996 Qee aldey a8 AIg
4

g



124. The fossil fuel used to produce thermal electricity is

125.

1.

2.
3.
4.

Coal

Coke
Coal tar
Petroleum

QIUF 9949498 Q@ IR NGLS F1QIY FIERE

1.

2
3.
4

6R AR
6RIR

6QIN 21
66QIMAE

99% of air is a mixture of

1.

2.
3.
4,

Oxygen & Carbon dioxide
Nitrogen & Water vapour
Nitrogen & Hydrogen
Oxygen & Nitrogen

QIR 99% 62QE LA Fgdl 26T

1

2
3.
4

AARIR 8 AIQRIF,
IR} 6 ERAAIF
IR B QIR
2ARIR 8 VISR



126. Find the parasite plant
1. Pitcher plant

2. Drosera
3. Mushroom
4. Cuscuta

JOG1a1 QEQY 596 @
1. ROEQ QEQ

2 c@Idal
3. 89

4. RS

127. “Suicidal bags” of cells are

1. Ribosome
2. Lysosome
3. Centrosome
4, Vacuole

6R19Q ‘YA ART
1. QARERNERIF
2 RUREAIERIF|
3. 664161

4 QUG

128. The organism that pops out its stomach through mouth is

1. Starfish
2. Jellyfish
3. Amoeba
4, Snail

IS FIQI AIRLNG LAAQ IR K19
1. QR Qg

2 R
3. Al

4 6018l



129.

130.

The excretory organs in Nematoda are

1. Renette cells
2. Flame cells
3. Nephridia

4, Green glands

6RCIEQIRIA Q90 QAR
1. 6Q6AQ 621Y

2 SGI6RIS
3. eagaell
4 20098

The Chloroflurocarbons are not released from
1. Burning of tyres

2. Refrigerators
3. Aerosol sprays
4. Air conditioners

6QI6Q 66Q RISR 2! TIQI 661I9R 99 QT
1. QIR YER FACIER

2 EQTEREACR

3. 6QUCAM 69

4 PIQ 2EA6RQ



131.

Match the following
SET-A

1) Dogs wave tails

i) Cats rub against objects

Iii) Monkeys groom each other
iv) Wolves howl

QA9Lq 691
SET-A
) 999 RIS RAK
i) QAT 929G V6D 6L
i) AIFPAIER IR
QEEAR 623

V) QlRJ2l 6QNCRRQ

1. I-a, 1i-b, iii-c, iv-d
2. I-b, i-c, iii-d, iv-a
3. I-c, ii-d, iii-a, iv-b
4. I-d, ii-a, iii-b, iv-c

SET-B

a) Tactile communication
b) Auditory communication
¢) Visual communication
d) Chemical communication

SET-B

a) A9 FIQ A NVINAE]
b) 94 QIS QB IKQE!
C) Q8N RIS UBIRAG

d) QLGS QI UBIRAES



132. The work that involves any skill to get an income is called

1. Profession

2. Hobby

3. Service

4, Volunteering

626193 60169 B A REQ FIA AIVA FRG 9
QLI

1. Q@

2 6IGR I

3. 6Ll

4 64l 641

133. The State that does not have boundary with Madhya Pradesh is
1. Maharashtra
2. Gujarat
3. Jharkhand
4. Chhattisgarh

CUIGEQE A2 Q7N Q4R @Q 28Il QURY
1. ALY

2 JgaIs
3. QTS
4 8G991%



134. Munneru is a tributary of

1. River Godavari
2. River Krishna
3. River Penna

4, River Nagavali

629 Y8 9Q1Q QUK
1. 6AIRIQN FQ1

2 QR FQ1
3. 6991 QQ1

4 QIR QL1

135. The port Lothal was situated on the shore of
1. Bay of Bengal

2. Arabian sea
3. Indian ocean
4, Red sea

emIZIM 6QIRIGL & AFQ 96 &l
1. QERFIY AITR

2 2Ie AR

3. QUG F1LIAIF

4 ERES AT

136. The capital city that has an ancient name of ‘Ekasilanagaram’ is

1. Madhura

2. Dwarasamudra

3. Orugallu

4, Devagiri

@ QFUIFT LR IS9P AR RIFIEQ JUee ¢l gml
1. Rl

9IRS

2
3. 6RO
4 QTR



137. ldentify the wrong statements regarding the British India

iv.

Warren Hastings was the first Governor General of
British India in 1773

Lord Mountbatten was the first viceroy of the British
India.

“A History of British India” was published by a German
economist James Mill.

In 1946, a mutiny broke out on the ships of the Royal
Indian Navy.

354 adel ade A0 62IARYS! NG 526 A

PO E

17736Q 09 RE2IQ 9o ARda 6969aIR AR
62qerq

354 821 9o AR RS ARG UITR
699 FA QAR A9 2dR1eR ‘559 adal Gl
QAP QL RIS

19466Q N RSE2IR 601-QITR16Q U@ F6QI2 AT
i, ii
i, i, iv



138.

139.

140.

Find out the mismatched pair related to Indus Valley
Civilization
1. Main occupation  — Agriculture

Major entertainment — Wrestling competitions

Port — Lothal

Main God and Goddess — Pashupathi, Mother Goddess.

2.
3.
4,
A9 0GR ANIGI A°URC PACAIFS 8¢ aQ
1 QIR 9@ - @8

2 QRIS ACANRYEANS — @3 JG6ITG!

3 6RIRIGS -6

4 S 6QQQI — AFAG 9Q° ClST

The continent that lies completely in the western hemisphere is
1. Australia

2. South America

3. Africa

4, Europe

2*gdRI6R TEAIS 6TINRER AZYRI 121664
1. Zeamell

2 QF&! 260!

3. 2T

4 LWEAD

The India’s first satellite was launched in
QIR ASYAT AAYL 6998 FAUAIRIYS! 9F

1. 1974
2. 1975
3. 1979
4 1985



141. The 9" goal of Sustainable Development goals is

142.

1.
2.
3.
4.

Reduced inequalities

Industry, innovation and infrastructure
Decent work and Economic Growth
Life on land

JdQ GRIHIQ ARVIGLRQ 1 AT

1.

2
3.
4

21AF0IQ BIAKAS
99, 209Q 1e° 6710 QAR
ARRFAD @ Ie° 2GS aRld
Q-9Y QUCQ F1Q

Identify the false statement regarding the distribution of

population

1. Many more people live in the north of the equator than the
south of the equator

2. Eighty percent of the world’s people stay in just 10
countries.

3. Almost three quarters of the world’s people live in two
continents, Asia and Africa.

4. The distribution of population in the world is uneven.

FEAHI TS ARG am Qe Snaala

1.

QYREAIQ QT4 VG LAY RRAVIGER 2P A°R
6MIER Q1Y FQET

21 @RA°MIQ 2SI JGEIG CRIER 6Q9F Q4T 6Q416Q
Q 08ea

Q2Ia1 FELHIQ BR-9521°8 6misa 12 G 2GR
QY @Qed

AlQl YE16Q FRA°HYI Foél AT RS ALY



143. These were used to detect poisonous gas in the period of
Vijayanagara kingdom.

1. Dogs

2. Donkeys
3. Canaries
4, Camels

FRARTQ QAR GIAR ATACR G QIQ §26 *AQ! AR
N2IF QLR @QeleM

1. 9eQ
2. o
3. Qg
4. 69

144. The percentage of Argon gas in the earth atmosphere is
Q-QVNPREIER ?J%il@\ WMIQR YGHG.

1. 0.93%
2. 0.39%
3. 0.09%
4 1.93%

145. This is not correct regarding science
Scientific knowledge is humanistic.

Scientific knowledge is empherical.
Scientific knowledge is absolute truth.
Science has many values.

1.

2

3

4

Q6QIB FIQ ARG A1 A0R 6L
1 CIRITR RID AIRAQIFT 26T
2 CIRITR RIR QSR 2T

3. ORISR RI6 6208 Ad Ao
4 ARIOQ UCAR MY A



146. These do not belongs to ‘psychomotor domain’
a) Imitating the drawing skills

b) Developing compassionate nature towards living beings

¢) Handling the instruments expertly and takes readings

d) Identifying the relation between factors such as energy
flow and energy levels

42l Q1ede FAUNR 0N USYD Q6% |

3) GQIFR ARGIQ AQLRAE KA

b) F1REgE G Qg J96a Gald @QQ

¢) JRYG F6ITR VA JALIRA| ° IO QAR

d) 9@ QI ¥8° 9@ Iq A QRIS F1IEA AL 526 *GQl
1. a, d

2. b, c
3. a, c
4 b, d

147. The board that has transparent glass doors and is locked to secure
information is
1. Bulletin board
2. Felt board
3. Plastigraph board
4. Magnetic board

948 @I9 ARG 2IR, TN ANAA IFIQ JoFS QY 621S
1L Q6mGQ 69le

2 6TRS 681

3. QR8I 6ale

4. QUL 6QIQ



148.

149.

150.

The chairman of national steering committee that recommended
National Curriculum Frame Work — 2005 was
1. Pro. Yashpal

2. Dr. Lakshmanaswamy Modaliar
3. D.S. Kothari
4, Pro. Ramamoorthi

RIS19 AIOYFE 2IRJIQ - 2005 @ YA @AY RIS
AR AT 6RAANIR

1 d. 999N

2 @. AYEIYAN 61N

3. @.4Q. 69101Q!1

4. g QIR

The general aims of social science do not include this

1. To explain human society
2. To promote world peace
3. To develop patriotism

4. Acquiring knowledge .
AAITR IR ARIAE AAIYFRER N2l ALQS 6L

1L 199 A0IF AR Q4el /8l
2 FE91ZQ 6912187 6@l

3. 680G 691227 A

4 ol =g arala)

The percentage of weightage given to the slip test in Formative
Assessment is

FORIAR ARRAEQ NYUAIRIF LR FALIRIYR| VIR
[

1. 20%

2. 30%
3. 40%
4. 10%



